SAMPLE QUESTIONS
SCIENCE
SA Il CLASS-X

Very Short Answer type (1 mark) questions

1 | 3ffRITPR® b Ped &2 SHUDI Th IATERIT IOy |
What are oxidizing agents? Give one example.
2 | Bl gaeid & & oM ferRad |
State two advantages of vegetative propagation.
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A green plant receives 50,000] of energy from the sun in the form of sunlight. How much
energy will it capture and convert to food energy?

Short Answer-I type (2 mark) questions

1
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Why do we need to look for alternatives sources of energy other than fossil fuels? Give two
reasons.
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Give reasons for the following-

(@) Sky appears dark instead of blue to an astronaut in space.

(b) Planets do not twinkle.
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What is placenta? Write its two functions.

Short Answer-II type (3 mark) questions

1
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C3H4, C4H10, CH4, CoHy
Define addition reaction. Write its one industrial application. Which of the following
hydrocarbons undergo addition reaction?

C3H4, C4H10, CH4, CoHay.
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(@) Mention the fundamental property of element which formed the basis of Modern

periodic table and state Modern periodic law.
(b) Mention the period to which Na, Mg and Al belong to. Justify their position in the
periodic table.

fPdl g0 @1 3w BIc BT o I8 IR SHH T8 ANT DI AMIdhd DI Si—
@) o H fAeRyd gar 2|

(b)  WRFTHUT IATed BT 2 |

()  Torafemr ST 2 oiR WRITHIT U8or &_al & |

(d) < BT & 8IR Pt Bl BT ol 2 |

Draw the longitudinal section of a flower and label the part which

(@) develops into fruit

(b) produces pollens

(c) is sticky and receives the pollens

(d) is colourful and attracts the insects
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A Mendelian experiment consisted a cross of round and yellow seed plant with wrinkled and
green seed plant. The progeny had all round seeds but almost half of them had green seeds.
Write the genetic make up (genotype) of the following-

(@) parent plant with round and yellow seeds
(b) parent plant with wrinkled and green seeds
() progeny with round and green seeds
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How can the age of fossils be estimated?
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An object 3cm in length is held 25cm away from a converging lens of focal length 15cm. Find
(i) the position (ii) size (iii) nature of the image formed.
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Ramesh is not able to see distant objects clearly. Name the eye defect he is suffering from? How
can this defect be corrected?

Draw the ray diagram to show image formation (i) by the eye with defect (ii) by the corrected
eye.
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Seema is a student of class X. She read in her textbook that certain compounds used as

refrigerants and in the deodorants are harmful to the ozone layer. She got concerned as she

knew about the importance of the ozone layer in the atmosphere. She also talked to her teacher

about her interest in spreading awareness about ozone depletion. Now answer the following

questions:

(@) Write the full form of the compounds which harm the ozone layer.

(b) Mention the function of the ozone layer.

() How can Seema spread awareness about the ozone layer in her school? Mention any two

activities that may help her in doing it.

Long Answer -II type (5 mark) questions

1 | (@ S99 & AHE B Uishar AASY |
(b)  HOR T H AUHSIG YAl BId B TIafds |G yWmdl el B | @I ?
(@) Explain the mechanisms of the cleansing action of soaps.
(b) Detergents are effective in hard water but soaps are not. Why?
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(@) Draw the ray diagrams for the image formation by a concave mirror when the object is at
(1) infinity (ii) between F and C (iii)  between P and F
(b) Explain why we prefer to use a convex mirror as a rear view mirror in vehicles?
(o) Write any two uses of a concave mirror.
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(@) An object is placed at a distance of 15cm from a convex mirror of focal length 20cm. Find
the position and nature of the image.

(b) Define refractive index. Light enters from air to diamond having refractive index 2.42.
Find the speed of light in the diamond. The speed of light in vacuum is 3 x 108m/s.




Practical Based MCQ type (1 mark) questions
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A bottle containing a solution was left open by mistake in the laboratory. As soon as, Rahul
entered the laboratory, he got the smell of vinegar. Rahul concluded that the bottle surely
contained-
(@) sodium hydroxide (b) acetic acid
() hydrochloric acid (d) sodium bicarbonate
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A student dipped a red litmus paper in the soap solution. She observed that-
(@) it changed to blue (b) it remained red
(c) it changed to green (d) it changed to orange
3

STl & A AT H AT BT (AT STell T |

f

dfewm aehe
7 @

ELCCIE L wifirra a.;rh -l

Gi?rf?b‘f?rﬁﬂ?fﬂwcaﬁ’cﬁ STRT ST~ BT I8 2—

@@  Dad A
(b) A3IR B
(©  @ad C
(d B3R C

The soap solution was added to the given water samples A, B and C.

Distilled Underground Water containing
Water Hard Water Calcium Sulphate
A B C

The water sample that will produce the maximum foam is:

(@) A only
(b) Aand B
(o) Conly

(

d) Band C
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A
B
C
D

Four students A, B, C and D made the following diagrams after observing permanent slides of
budding in yeast.
The student who did not draw the diagram correctly is-

(@)
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(@) z1
(b) 22
(c) 43
(d)  1800-,2

In the experiment to study refraction of light through a glass prism, a student marked the
different angles as 1, 2 and 3. The angle of deviation is marked as-

(@) z1

(b) 22

(c) 43

(d) 1800 - 22




